yljlaall alujai

( alyasll (.:m:m gujall

g) duoliall dyglill alol 3U Losd 8328 JS 2us -1

absud &gl

90° (x!J’) =t (_x? _y)
x,5) = (0 —x)

% y) — (=02)

Luilan S 6 daanll dilal jisl

dwgd) wldlus] (s A DEF 8yg40 -1

qum 0!’3'} 13-95" L D(—Z,?)) ,E(I,Z),F(—g, —3)
Do Ja¥ldkii J = 180°

.
7

Gt L« 4(9,0) ,B(6,—7),C(3,—7) ,D(0.0) 4wsd)y wlilasl ABCD (Bymin &k -2
§ oI i Jg> 2700 gl ymiall &l 295 (56 d23UI D Bygu0

D'(2,2) D' (—1.—2) D(—2,—1) D'(0,0)

TP'(7,3) 3 b dosly o) &l g 0lbgs 05 Al C(3,—7) Akl 1300 — 3
¢ dghlloda p L

90° 180° 270°

L L L L

s sl sall punl

-
‘e EEsEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEnEn?




